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3 “ A 3 344,979 90,047 861 2,590
3 ¢ A 3 346,928 109,139 2,871 3,553
35 fL A 3 262,057 85,907 911 2,619
£ EY A 3 262,943 51,956 1,328 2,142
% 3 A 3 323,272 76,399 1,295 3,301
-4 =G L % 540,298 138,130 876 3,186
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3,152,208 20,819 24,976 2,558 18,386
239,336 1,531 666 8 1,785
237,604 918 784 4 1,681
412,355 5,933 1,506 39 1,844
376,243 1,076 999 81 1,907
247,349 1,378 1,808 21 925
221,884 2,000 4,564 122 2,795
165,182 1,476 4,742 11 1,209
202,149 1,659 1,182 1,242 1,285
238,604 755 1,069 26 1,823
390,830 1,280 4,581 126 1,289
154,701 1,298 659 29 761
79,623 610 1,175 1 474
186,348 905 1,241 848 608




